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° 1 Select the equation that would @ b
result in the line shown with a
m I U S y-intercept of 6 and a slope of Y — bx + 9 Yy = —6x —2
2
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Math worksheet on 'Slope of a Line - Select Linear
Equation Based on Slope and Y Intercept (Level 2)" EEE y=2zx+6y=-"2x+6
Part of a broader unit on 'Line Equations and 5
Graphing - Intro’
Learn online: app.mobius.academy/math/units/line equations and graphing_intro/ ) 5 O:V
2 Select the equation that would @ b 3 Select the equation that would ' @ b
result in the line shown with a result in the line shown with a
y-intercept of 0 and a slope of 'y p— 1033 Yy = 132z + 3 y-intercept of 6 and a slope of Y = —6x—1 Yy = 4x + 6
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/ 1] y=10x—-3y=13x—-3 1] y=2r+9y =1z +6
e | [ e
:0‘r 5 O;Y y — 7$ + 3 3 5 o:v y — _1$ + 9

4 Select the equation that would @ b 5 Select the equation that would @ b
result in the line shown with a result in the line shown with a
y-intercept of 8 and a slope of Yy = —6x +5y = —4x + 8 y-intercept of 5 and a slope of Yy = —1x + 8 y p— 8
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y=-8x+1ly=—-8x+4 1] y=4xr+8y=2x+5
\ ' ] e | [ e
:()‘r 5 O:Y y — _2217 + 5 < 5 0=v y — _233 + 5
6 Select the equation that would Q b 7 Select the equation that would Q b
result in the line shown with a result in the line shown with a
y-intercept of 7 and a slope of Yy = —2x + 7y = —6x + 10 y-interceptof 1and aslopeof Yy = 2x + 1y = -1l —1
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y="3x+Ty=-Tx+7 y=-4dzx+4y=1x+1
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